
Natrolite (Na2Al2Si3O10·2H2O, S610) Structure:
A2B4C2D12E3 oF184 43 b 2b b 6b ab-001
This structure originally had the label A2B4C2D12E3 oF184 43 b 2b b 6b ab. Calls to that address will be redirected here.
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Prototype Al2H4O12Si3

AFLOW prototype label A2B4C2D12E3 oF184 43 b 2b b 6b ab-001

Strukturbericht designation S610

Mineral name natrolite

ICSD 201651

Pearson symbol oF184

Space group number 43

Space group symbol Fdd2

AFLOW prototype command aflow --proto=A2B4C2D12E3_oF184_43_b_2b_b_6b_ab-001

--params=a, b/a, c/a, z1, x2, y2, z2, x3, y3, z3, x4, y4, z4, x5, y5, z5, x6, y6, z6, x7, y7, z7, x8,
y8, z8, x9, y9, z9, x10, y10, z10, x11, y11, z11, x12, y12, z12
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• We use the data from the sample that (Kirfel, 1984) call Crystal II. The origin has been arbitrarily set so that z1 = 0.
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B7 = (−x3 + y3 + z3) a1 +
(x3 − y3 + z3) a2 +
(x3 + y3 − z3) a3

= ax3 x̂ + by3 ŷ + cz3 ẑ (16b) H I

B8 = (x3 − y3 + z3) a1 +
(−x3 + y3 + z3) a2 −

(x3 + y3 + z3) a3

= −ax3 x̂− by3 ŷ + cz3 ẑ (16b) H I
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B11 = (−x4 + y4 + z4) a1 +
(x4 − y4 + z4) a2 +
(x4 + y4 − z4) a3

= ax4 x̂ + by4 ŷ + cz4 ẑ (16b) H II
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B12 = (x4 − y4 + z4) a1 +
(−x4 + y4 + z4) a2 −

(x4 + y4 + z4) a3

= −ax4 x̂− by4 ŷ + cz4 ẑ (16b) H II
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B15 = (−x5 + y5 + z5) a1 +
(x5 − y5 + z5) a2 +
(x5 + y5 − z5) a3

= ax5 x̂ + by5 ŷ + cz5 ẑ (16b) Na I

B16 = (x5 − y5 + z5) a1 +
(−x5 + y5 + z5) a2 −

(x5 + y5 + z5) a3

= −ax5 x̂− by5 ŷ + cz5 ẑ (16b) Na I
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B19 = (−x6 + y6 + z6) a1 +
(x6 − y6 + z6) a2 +
(x6 + y6 − z6) a3

= ax6 x̂ + by6 ŷ + cz6 ẑ (16b) O I
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= −ax6 x̂− by6 ŷ + cz6 ẑ (16b) O I
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B23 = (−x7 + y7 + z7) a1 +
(x7 − y7 + z7) a2 +
(x7 + y7 − z7) a3

= ax7 x̂ + by7 ŷ + cz7 ẑ (16b) O II
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= −ax7 x̂− by7 ŷ + cz7 ẑ (16b) O II
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B27 = (−x8 + y8 + z8) a1 +
(x8 − y8 + z8) a2 +
(x8 + y8 − z8) a3

= ax8 x̂ + by8 ŷ + cz8 ẑ (16b) O III
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B28 = (x8 − y8 + z8) a1 +
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(x8 + y8 + z8) a3

= −ax8 x̂− by8 ŷ + cz8 ẑ (16b) O III
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B31 = (−x9 + y9 + z9) a1 +
(x9 − y9 + z9) a2 +
(x9 + y9 − z9) a3

= ax9 x̂ + by9 ŷ + cz9 ẑ (16b) O IV

B32 = (x9 − y9 + z9) a1 +
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B35 = (−x10 + y10 + z10) a1 +
(x10 − y10 + z10) a2 +
(x10 + y10 − z10) a3

= ax10 x̂ + by10 ŷ + cz10 ẑ (16b) O V

B36 = (x10 − y10 + z10) a1 +
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= −ax10 x̂− by10 ŷ + cz10 ẑ (16b) O V
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(16b) O V
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(16b) O V

B39 = (−x11 + y11 + z11) a1 +
(x11 − y11 + z11) a2 +
(x11 + y11 − z11) a3

= ax11 x̂ + by11 ŷ + cz11 ẑ (16b) O VI

B40 = (x11 − y11 + z11) a1 +
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(16b) O VI

B43 = (−x12 + y12 + z12) a1 +
(x12 − y12 + z12) a2 +
(x12 + y12 − z12) a3

= ax12 x̂ + by12 ŷ + cz12 ẑ (16b) Si II
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B44 = (x12 − y12 + z12) a1 +
(−x12 + y12 + z12) a2 −

(x12 + y12 + z12) a3

= −ax12 x̂− by12 ŷ + cz12 ẑ (16b) Si II
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(16b) Si II
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